H A -z 2022/6/4 IR FHIE B
RS 20224F FE S 2[E BT« AR Y 2= 7 iR A
e SRR AR 2 =7 2R SR, TR AT L R e B
FHReEFARA + AWy B S bl + AT IR R
B A+ &H 14z 2 3hL ML 5hL 6fiL The 8hL
J— 6HAE 100m EE 11.01 (+0.6)|&A T 1131 (+06)[fERE 5 1141 (+06)[EH =& wiL78 (+2.3)[/E  KHE 11.82 (+0.6)[F L 2% 1189 (0.9)[W &E wiL96 (+3.7)| 16 BR w11.97 (+2.3)
FBAE-NAlH TR3| K -#td TR3|+ HHET- ke TR3|FfB - /NHAEH R NHETH TR3|+HET-+ HAETH TR3|+ HHET- A BmRE-ERE
A4 200m T 22.01 (+2.0)| & 188 2264 (+2.0)[IhE & 2414 (+2.0)[F) BA 2418 (+2.0)|E&E HR 24.19 (+2.0) [ Z5 w2423 (+2.3)|/IiE AR 2437 (+2.0)|#&& 15 24.43 (+2.0)
BfRE-HATH TR|+ HET- B TR|+ HHET - TRIFE&B-ERP TRI+BE-Fh%&F TR+ HET-+ HAETH bYA=l TRI&B-Head
6H4R 100m HEE HR 53.56[1E 2% 55.38[4@2 i 55.60| =8 R 55.74[%  #E(= 56.01|E9MR Z23f 57.53[xH mE 58.06[ Ll KR 59.15
+HE-pEF TR{E&EA- A+ TR|AB-ELAF TR|+HE-FEH TR F#k- FEAMF 23- A8t INFR-ER B AfMF
6A4n 500m AT R 2:1789[38H#F X& 22112| B2 1B 221.98|% /K & 2:2231| k% BN 2:22.98|EH Ak 2:2391[FE &K 2:2459|&R EAH 2:26.32
N RNk Al E NFRNFREA ff - EEd NFRNFRFH +HE B + BT )IFEHR RE-FER
6H4N lsoom | PO A 4:26.94[ L8 =& 4:30.06| B RB 4:32.85| % =R 4:36.61|fRE0 = 4:37.20[%1E BHE 4:39.88|# A K 4:4117| I8 EXR 4:42.24
) BRE- ] HATR TR|+HET- K +HE-HHF +HET-h%EF +HE -+ HEH +HE-T&F +HE -+ HEH +HET-IFESR
6H4H s0m  |PR B 9:56.60| K F & 10:07.68|518 &0 10:08.13[ g &K 10:13.20|7TR 2 10:14.07[REO &% 10:17.79|1fE  &=F& 10:19.04|F1L HE 10:22.91
+HE -+ BR$ NFR-FER NFR-ER T HET-)IFES +HET-T&H +HE - FOo0VEFE +HET-FH +HAE - 00X FFE
mEA - NHETHA 4451+ BET-XF A 45.33|FE&E - ERFA 47.05|+BET-+HETRA 472188 2N F 48.68|FEAE - 1ERFB 48.86[+HHET-F5H 49.15|FE 8- KAFR 49.23
BH =& BR OEKRHA I EA O g 55 A B X EE BB AR Bt
674K Ax100mR ek Sl - kB 18R . Big {ExN . HERE At . EE Bf 4K W hR WH EE
EE & w WE A K2 il e KE B BIR RE EH —8E A HRsb
JIE KiE [ITE= R 3 Ng BR il 28 Syl K NS Kig B NE BR
6H4D mpe BN RE N ESEE 150[xAE HI 145|8H K& 1.35|fF% BZ 120(F%L = 1.10
+HRET-F&$ TR|+BR-hs T HET- kg BB NHAEHR NFRNFRF BB EZAT
6H4H [ RFE ERHA 410[kB RE 3.60[AL Hdx 290EH —# 2.80
+HET HUREAM +HE-T&F TR+ BHE %P TR
6H4H P R 599 (+1.4)[ LA x= 570 (+1.2)[#ERE fBiE w552 (+2.2)|EE EE W5.28 (+2.6)|£8 & w5.19 (+2.9)[B97% KRR W5.06 (+2.7)[Fulr &23A 5.04 (+0.7)[NE 59 493 (+1.3)
NFRNFHRFP TR|E&E-ERE T HET-+HETH +HAE-HHEF - FHORME FfRA-KfH NFR-EP mfRg-ERE
o . 100mH HT k& 19.39
PEEER | 6H4H 08 g
P - 6AAH L00m ] wil79 (+23)[\E& BE wll.97 (+2.3)|W MEZ w12.06 (+2.3)|[FE &% w1217 (+2.D)| BN EE wi2.22 (+2. D[N #F w1233 (+2.D|AE X&% w12.36 (+2.3)|[ Rk %R w12.37 (+2.1)
: BB BAF BRA-ERT +HE - BfaA- NHEH BaA-ERT BaE- AT B8 BrAR Bmfad-ERE
640 500m MoT ER 2:07.52|% & HEA 2:09.08[2 B 2:10.04|%K HE® 2:10.91|E =% 2:13.67|%@IE B% 21771 L R 2:18.87| L& =al 2:22.11
RNk TR|MAEG-FE— & TRIE#- EHAMER +HE-EH BRA- A4 +HET- &4 BRE- A4 + B -
6H4H soom |TEKE 4:05.79|NE = 4:11.53[386 X 4:16.88[3rfR ) 4:17.26| 515 & 4:22.85|28 4:26.00| %% BA 429.27|50 & 4:29.84
+HE-IFER TR|+HE-EHP TR|MEE- B TR|#& - Tl TR|+HHE-HpEF TR| &AL F TR|+HE-TE&H TR|F & 2EHR TR
654D s00m  |VVE EE 8:49.49|F R &b 9:18.61[ZE =& 9:19.38| Rk HK 9:28.02|B1E & 9:36.27|E = 9:43.87|B @i 9:4434[RO BE 9:44.98
+HE-HAG TRIFTR- T TR{+BE-EH TR|+HHE-)IIFEE TR|+HE-HpE$ TR|.E#L- EHOKK TR|FE&E- RSP TR[+HHET - o0 X FFE TR
6H4H Lom |TEEED w17.39 (+27)|ARE HSF wl7.62 (+2.N|EH THE w17.82 (+2.7)
+HET- F&H P EmE T INFRNFAH
LSS | 6A4R Som ﬁgmzﬂgs w9.39 (+2.1) TE%%EIA%CZ@ w10.76 (+2.1)
INES~ BT | 6540 100m GRS 1476 (+1.1)|#m8 =& 14.89 (+1.1)[/@H =MW 15.65 (+1.1) Bl Hkas 15.88 (+1.1)[tkAR @3 wl6.01 (+2.2)|E#k% K8 wl6.71 (+2.2)| =18 ZKEB w17.25 (+2.2)|#0 Bk w17.52 (+2.2)
+ HETAC TR +HETAC +HHETAC +HHETAC + HHETAC +HHETAC +HHETAC
A~ GHEE T | 6441 soom |PF BA 5:04.02| K ® 5:31.46|EN AKX 5:37.11[lL0 #BA 5:48.33|7K% EK 5:50.91| 1k LR 5:51.20[ i =51% 5:55.21|10 fBAk 6:19.83
- il +HETAC + HHEAC PN + HHEJAC + HETAC + HHEAC + HHEAC
T 614R 110mH #;E# B w14.28 (+3.2) Eaﬁ ng wl7.12 (+3.2)|TE %N wl7.74 (+3.2) N%Ea e wl7.78 (+3.2)| 2% TE w17.95 (+3.0)| K mlﬁr’ﬁ w1955 (+3.2)|51E # w20.09 (+3.0) i:iz?\ ?E% w20.57 (+3.0)
BRE- < HATH BRE-ERER +HE-F&F R NFRNFRFR P EE +HE -+ HEH BRE-ERE
6HAH oy B RR 9.91 e 9.41|FK LB 8.10[XF B 8.07[FIE B IEAGIEE 76958 EK 726]B &4 H 6.86
P T 5 £8dcH Bmag-ERE B8 E2AFR ErSE ANl + HET- R H 28 B2 INFR-ER
g | KB 27.70
4B | FEER |l e
) R qiE KE 37.45
641 | ¥ 4~Yys2m N2 T
e } A& X 12.42|F8 M 9.72
BBT|OHAR) RAR | e + H T
) BE B 35.79[A%E 3k 30.95
SHLR | P B T B
EEEESS 1274 (+1.2)[6 k= 1288 (+1.2)| &k HAZ 1298 (+1.2)|E®H 1t 13.04 (+1.2)[ 5/ =B w1339 (+2.2)[hE & 13.46 (+1.2) ENIIREE 13.47 (+1.2)
S5k T 6H4H 100m BaE-ERY TR2[/NFa-hFad TR3| &M -#Eie s TR3|FfB - /NHAETH TR3|[mAE - /<HATH FfRA: AfH TR3 T HAE-T&T TR3
. [ AN w1346 (+2.2) EE TR WiZETSD)
INFANFAR BRE-ERE
BN E& w26.83 (+2.3)[RAN <55 w27.99 (+2.3)|TR #75a w28.03 (+2.3)[BiE  HEM& w2839 (+3.7)[hE & w28.42 (+3.2)|fEEE % w2852 (+2.3) 2% &% W28.66 (+2.3)
6A4H 200m BRE-ERH +HET-T&H NFRNFRA +HAE-+HAEFR BRA-AfH MR N\ET mfaE- A+
Bl EA w28.52 (+3.2)
BB-E2ANR
6H4N 500m EEIESS 2:28.55|BFE  HHZE 2:2987|RE #Z 2:30.55[/ L A 2:31.32|EH ME 2:3L77|FH0O 2:32.36|BAK LE 2:3531|ARE £E 2:35.91
+HE-EH TR|+HET-FEH TR{+HR-fgs T HET-T&H PR -EERE(R) BaE- /BT M- SRE PR
6A4n I = 5:03.16[#1L #0 5:07.15| AREH £& 5:08.97|1RiZ =& 5:10.16[FL =& 5:14.13|E1E &H 5:17.52|hE E£& 5:18.30[F N Ex 5:19.75
+HE- %G TR|+BRE-F&$ TR{F &2+ TR[+HE - +HET-FH +HE B NFRNFRF Ll EBKMER
FRE- N HETHA 51.29[NF A NFAHA 51.55[@&E- AfH 53.99[@&E- /NBEFA 54.58[+HE-+HEH 55.42[+HET-)IIFE S 55.80| @& E- /X HEHB 56.09[+ B ET- A H 56.76
2% T KE  HfE WH # ANl & PR RAR mE =M aH BE R BEE
6H4H 1x100mR  |FER BE R o kE . 2% $E5 N2 BT LIRSS 2% BF % IR e HE
RIR BT Pk EZ B Fm| B aING il BE B LEX ARE e SR fE
SR ER TR HindH IR FERE [ = E B BRK BiE = BE O kR PE
Rk &= 1.55|E87 I 1.43 hbk BEE 140|#oT EA 1.35 =il BR 1.35(E w7 1.30
6H4R R +HE B TR|E& - ZRE #NAME? NFRNFRE BRERE NFRNFRF BRA-ERE
RS 1.43 FUNTEE 1.35 KA W= 1.30
BmRE-RHETHR #NAME? + HHET-ACGRF INFABNFARH
. =% BB 2.40[LE %EH 2.00
OIAR)  HEEE 3o pEE
6H4H - k¥ @b wb5.33 (+3.3)[ k. EZ wb5.04 (+2.5)[f1H #z= 4.72 (+0.9)[Huilr  Ewt wabl (+2.3)|BiF LEX w4.39 (+3.9)[AfRE BT 434 (+1.7) ik |= 4.24 (+0.6)[%E % w4.08 (+2.9)
INFARNFAR INFANFAR 5% 7aY o b TR|+HHE-EHHE +HE-)IFER b aN =L K -FEE BRE-ERE
BEH D58 13.80 (+0.6) BAK BE 13.83 (+0.6)[®BE #% 14.02 (+0.6)|180 &% 14.32 (+0.6)
. . +H BB AfRE-ERE A NHAEHR Bmaa-ERT
SP#+- 6H4H 100m AT%EE /D\% X IEG)
K- -Fs
R OEE wl7.07 (+2.4) |k K% w18.20 (+2.4)
SAAN]  100mH o g aar AR HR
[ EE KE 9.57 (+0.8)[ 2 K& 9.91 (+0.8)[BE %% 10.63 (+0.8)[2H BT 11.00 (+0.8)
L2 | 6140 om 14 BErAC + A ETAC +BETAC +BETAC
NES~GE LT | 6840 L00m BT FE L 15.17 (+0.8) |1 EREH 16.37 GLA[KA A 16.75 (+0.8)[/NL O Y 17.06 (+0.8)[<& W& 17.11 (+1.8)[1 BE 17.35 (+1L.A)|AF BHF 17.63 GLA[EL F=R 18.66 (+0.8)
SRAR=YT T4 7 #EISC BP0V b +BHETAC #EISC #%85JSC +HHETAC BBEP7OV b
A~ LT | 6514 500m EEEE] 2:30.32|EH EH 2:36.28[E & 2:48.40|H EREE 2:50.97|K% W& 2:55.76|#& K FEZ= 2:56.18|3 A% Fix 2:57.33[M1 B3 3:07.39
BBV s b BP0V b +HHTAC #EISC $#EISC +HHETAC BP0V b $#BISC
- 6H4H ooml B _ER w15.26 (+2.1)[E1E HHMEK w1564 (+2.D)[FR BT w15.66 (+2.D)[ILE #FE w1575 (+2.D)[Z=E 1B wi6dl (+2.)|[EE == w16.53 (+2.D)[5% =R 16.65 (+0.9)[+& =& 17.25 (+0.9)
IINFANFAR +HE -+ HEH BmAE-AEHHH 1+ HET- AR BmRE-\ER RiH-Ei R BmRE-NHEH TR|E&EB-/<BHH
6HAE gy |EL ELD 844|E2 #M 7.63[HE FiE 754[EE T®E IEEREESED 6.38[/\R  Eix 6.18[fE%E =R 6.18[XFF & 5.73
BB EZAT PR BB L BB E2AH BfRA-KflH AN =L BfRA-AflH RE-FEH




